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mp(BIEIE ST 140,049
| 107,730
= 32,319
RIS ALSI S A THE ALY 109,429 136,786 A27,357
| 84,176
= 25,253
308 X+XI €M S 0| & 109,429 136,786 ~27,357
| 84,176
= 25,253
01 RS HE LB ES 109,429 136,786 ~27,357
X ANSI S A THE ALY 109,429
| 84,176
= 25,253
o OFZ 2| A AR 2,637,884 2,584,956 52,928
| 2,028,737
= 609, 147
201 YEr2gY| 1,500 1,500 0
| 750
= 750
01 At 22|t 1,500 1,500 0
O2gag 1,500
OYYBAANAN SRS 2Y+YS 1,500
| 750
& 750
308 XX/ €+ S 01 & 2,636,384 2,563,456 52,928
| 2,027,987
= 608,397
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2,027,987
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HAEEES 13,520
6,760
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01 HXHHBAEES 2,268,500 2,277,740 A9,240
O U2 SHIXE A 2,268,500

1,745,000
523,500

<
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44,000
66,000
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307 QI2tol A 110,000 90,000 20,000
J| 44,000
& 66,000

02 It B AE X 110,000 90,000 20,000
OZ2=LdH2g9 X 110,000
| 44,000
= 66,000

He X L& S22 XI& 2,498,766 2,494,794 3,972
| 1,922,128
& 576,638

308 AtXIEHM SOl 2,498,766 2,494,794 3,972
Il 1,922,128
& 576,638

01 XM BLEELS 2,498,766 2,494,794 3,972
O AL ES N =HI K& 2,498,766
| 1,922,128
& 576,638

CIE2HE0 22 ALY 218,000 231,250 213,250
| 147,750
& 70,250

201 LBr2gH| 3,000 0 3,000
| 1,500
& 1,500

01 At 2teltl 3,000 0 3,000
O g2 282t u =S 3,000
J| 1,500
= 1,500

307 2120 & 100,000 100,000 0
| 50,000
& 50,000

02 QItFAE X 100,000 100,000 0
Oagdeoga2e| 2SR S A 100,000
Il 50,000
& 50,000

308 AtXIEHM S 01 & 115,000 131,250 A 16,250
| 96,250
= 18,750

01 IXHHBAEES 115,000 131,250 216,250
O g2l g2l ALS 81,250
| 62,500
& 18,750
Oacgadeig2e| usi 33,750
| 33,750

ZEHEE XA 171,808 251,680 ANT9,872
| 132, 160
= 39,648
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OryEAN2Y 117,000
p] 90,000
[ 27,000

403 XtXI ST S AH2 0| & 54,808 144,820 £90,012
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= 12,648
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[ 12,048
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= 600
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| 1,953, 186
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| 1,953,186
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p] 40,000
= 12,000

01 X SHMBABES 52,000 49,400 2,600
CIOFE I & AL 0l 2 22l ALY 52,000
p] 40,000
= 12,000

HAPAALEE 248,040 202,440 25,600
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AISAHHSH 175,630 165,620 10,010
J| 135, 100
= 40,530
308 AtXI SISOl A 175,630 165,620 10,010
J| 135, 100
= 40,530
01 AIXIEHIBAEXZ 175,630 165,620 10,010
Ogassaede2Y 175,630
J| 135, 100
== 40,530
ALER201L A ALS 257,250 267,900 A 10,650
308 KX SISOl A 257,250 267,900 A 10,650
01 AXIEHBAEEXRS 257,250 267,900 A 10,650
OSALIASSIO S A 51,000
OXSANSRES2HHEHS S 98,400
O302sEIAY 36,000
OS2 E A 18,000
O8EYEEHUHX Y=Y 15,000
OY S0 2EAS 38,850
R ZUL DAL AL LT ALY 493,147 0 493,147
2 445,575
= 47,572
201 L Bt2HH| 65,000 0 65,000
= 65,000
01 AtR2t2|d| 65,000 0 65,000
O30 NAHLBRANLRE > 65,000
= 65,000
308 KX S SOl A 428,147 0 428,147
= 380,575
== 47,572
01 AXIEMBAEEZ 428,147 0 428,147
O 2SI HNHL B AL 428,147
= 380,575
= 47,572
NSO ALS 7,547,997 7,358,738 189,259
= 1,977,629
| 2,287,495
, = 3,282,873
NEAHHAIE =X 75,000 68,000 7,000
201 L et2H Y| 34,000 28,000 6,000
01 AR 22|l 34,000 28,000 6,000
Ogdt~2H| 30,000
ONS¢tHH=E=SYLNRUMMES 30,000
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Ao BB S (BIH) - KIS A Aol e 2
04 OI2FSH AL 10,000 10,000 0
CICHE A4 10,000
308 X+X| &Kl 168,000 132,000 36,000
01 AIXESHNBAEEZ 168,000 132,000 36,000
OMSAM=SFOUAANNEEL NS 69,000
OMESA=S2H0IZH AL 69,000
OsatEdes2d0a2 0= 30,000
402 2I2HXHE01 ™ 8,000 8,000 0
01 IZtXrE8 = 8,000 8,000 0
Os&dEgsHUAIRA LSS 8,000
MBAIMOIE 20| XI& A 2,105,098 1,982,412 122,686
= 1,937,629
== 167,469
307 QI2t0| & 23,700 21,253 2,447
= 23,700
02 912t F 4 23,700 0 23,700
CIat2 Al 23,700
= 23,700
308 XHX| SISOl A 2,081,398 1,961,159 120,239
= 1,913,929
T 167,469
01 RFXIEHA 2,081,398 1,961,159 120,239
CJAF2 Al A4 2,081,398
= 1,913,929
= 167,469
AP H 22 2| AL 2,021,855 2,368,729 N 346,874
J| 1,501,560
= 520,295
308 X XISHHAS 2,021,855 2,368,729 N 346,874
| 1,501,560
= 520,295
01 XbXIEHXI & 2,021,855 2,368,729 AN 346,874
OHUR LR 1,711,886
Jl 1,268,064
== 443,822
A 238,269
Dl 176,496
== 61,773
1o D] 15,000
J| 15,000
O& A E A 56,700
J| 42,000
== 14,700
A2 OFAFS O & 996,705 908,408 88,297
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SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
ol 738,300
= 258,405
308 XX EHHIS 0| ® 996, 705 908,408 88,297
p 738,300
= 258,405
01 HXSHHBAEES 996,705 908,408 88,297
(101250t & B &40/ &40k 2| 2 b 625, 198
p 463,110
= 162,088
(140 & & CHAFOI &4 24 AF Ot 2t 2) 335,394
p 248,440
= 86,954
1414403 2 24 A} 36,113
p 26,750
< 9,363
I ROIAY AT ALY 52,839 63,189 10,350
p 47,635
< 5,204
308 X+ XI £+ HI S 01 & 52,839 63,189 10,350
p 47,635
= 5,204
01 IR SHBALES 52,839 63,189 210,350
(Y R0FHA AT AL 52,839
p 47,635
< 5,204
OOlEIIESHAS SRR SY 80,000 100,000 20,000
= 40,000
= 40,000
307 2I2+0l & 80,000 100,000 20,000
= 40,000
= 40,000
02 It AR X 80,000 100,000 20,000
(ot I ESAM M ESER 2N 2 80,000
= 40,000
= 40,000
OOt BHAI M BHE U A HI A A 6,939,958 4,734,357 2,205,601
p 6,520,211
= 419,747
oz pelYREX 101,000 96,000 5,000
201 et | 10,000 10,000 0
01 AtR 22/ H| 10,000 10,000 0
WETEIER=Y] 9,000
OoZ el A 2R B Xt R0l 9,000
Neg+g 1,000
ONEEEEEEECERRA=E 1,000
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202 CF | 16,000 11,000 5,000
01 ZLHOHI 16,000 11,000 5,000
PRI 16,000
308 XHXISHHI S 01 75,000 75,000 0
01 HXSHHBALED 75,000 75,000 0
my B ESEEL ! 75,000
Al 2EEOH 01 & Q1 5 24 L OHOF Al S5 AHEY K| & 45,000 35,000 10,000
307 QI2H0| ™ 45,000 35,000 10,000
02 DItAAE X 45,000 35,000 10,000
AR OO RSt X & 25,000
OMASSLCQIOHOIAIS XA 20,000
ST HBHE 22| 396, 174 409,952 A13,778
p] 198,087
= 198,087
307 QI2H0| & 396, 174 409,952 ~13,778
J| 198,087
= 198,087
02 DI2HHAB X 396, 174 409,952 A13,778
OS2 2B HH2U| 396,174
9] 198,087
= 198,087
SZoRl|BNALHOIZ B A 1,590,000 1,660,000 70,000
9] 1,590,000
307 I2H0| & 1,590,000 1,660,000 70,000
9] 1,590,000
02 DIHHAB X 1,590,000 1,660,000 70,000
BEEEEDEEER e Y- 1,590,000
9] 1,590,000
S22 A AH2HT A 35,000 35,000 0
307 QI2H0| 35,000 35,000 0
02 QItAAE X 35,000 35,000 0
(J0ISASSHIDNSEXL2HI 25,000
(J0ISS2ABHERHI 22N 10,000
Ho R KA S 3o BEE 4,611,000 1,250,000 3,361,000
Il 4,611,000
307 QI2H0| & 2,900,000 1,250,000 1,650,000
p] 2,900,000
02 DIt a8 X 2,900,000 1,250,000 1,650,000
OF X cXASZo2) 22U 2,900,000
J| 2,900,000
402 DI2HX 20| & 1,711,000 0 1,711,000
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